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SECTION-A
i) General Awareness

Brahmo Samaj was founded by
(A) Raja Ram Mohan Roy

(B) David Hare

(C) Dayananda Saraswathi
(D) Dadabhai Naoroji

The Union Government is in the process
of constituting a new Education
Commission under the chairmanship of
Prof. Andre Betille to draft the third
National Education Policy. When was
the first Education Policy introduced
under the Indira Gandhi Government 7
(A) 1978
(B) 1986
(C) 1968
(D) 1980

(A) Cinema
(B) Literature
(C) Music

(D) Medicine

Where was 161 NAM Summit held ?
(A) Tehran

(B) Kolkatta

(C) Bagdad

(D) Cairo

The leading producer of silver is
(A) USA

(B) USSR

(C) Mexico

(D) South Africa

& Under which Article of the Indian

(C) Ariicie 305

(D) Jagannatha temple of Puri

Dada Saheb Phalke Award s @i r
outstanding contribution i i

a clinched the Bronze Medal in the

0 00 0

Constitution, each Constituent State of
the Union should have a Public Service
Commission 7

(A) Aricle 315 (B) Article 215
(D) Article 205

Which is the richest temple in India ?

(A) Shirdi Sai Baba temple

(B) Balaji Temple of Tirupathi

(C) Padmanabha Swamy temple of
Thiruvananthapuram

Which of the following is a block
moLntain %

(A)  Alps (B) Vosges
(C) Rocky (D) Andes

Fly-eategory in London Olympics
2012 in boxing ?
(A) Gagan Narang
(B) Vijay Kumar
(C) M.C.Mary Kom
(D) Saina Mehwal

What is the name of the Farmer IAF
Chief who is examined _by CBIl in
connection with the alleged bribes paid
by Htalian firm to clinch the Rs. 3,600
crore contract for supply of 12 VVIP
helicopters to India ?
(A) S.P.Tyagi
(B) V.K. Tyagi
(C) B. P.Tyagi
(D) V. P.Tyagi
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i 455 11. CAG has made serious observationson | 16. The period of which Five Year Plan is
;‘:E =3 the gross misuse of the agricultural 2012-2017 ?
g‘: ;2;; debt wa.hrer and drs:-bt relief schemes. (A) Twelfth
= Expansion of CAG is (B) Eleventh
e (A) Controller and Auditor General (C) Thirteenth
(B) Controler and Auditer General (D) Tenth :
(C) Comptroller and Auditor General
(D) Comtroller and Auditor General 17. No money bill can be introduced in the
legislative assembly without the
12. Which of the following introduced a recommendations of the
measure of provincial autonomy ? (A) Speaker '
(A) Minto-Morley reforms (B) Govemor
(B) Montague-Chelmsford reforms (C) Chief Minister
(C) Cripp's mission (D) Finance Minister
: (D) Gowt. of India Act, 1935
18. Articles 149 and 150 of the Indian
13. Emnd I?H_p' Constitution deal with
(A) Indian Science Research (A) Powers and functions of the
3 Or . s ,G '- -
SR | ‘Gavernorof #state
Wﬁsai oL President of India
(C)gMian Scigille Research mptroller and Auditor General

e

tion Commission

ﬁf@ﬁniﬁathn_
©) Image  Sensing  Roeel

b 19. In the Constitution of India, the word
14. God Particle spotted on 4-7-2012 is also ‘Federal is used in
| called (A) The Preamble
: (A) Higgs boson (B) Pﬂf"t Il
(B) Higgs bosom (C) Article 368
(C) Higgs basan (D) No where
D) Higgis boson 4
(PhHe 20. Who is the Head of The Economic
15. Quit India Movement was launched in Advisory Council to the Prime Minister
response to at present ?
(A) Cabinet Mission Plan (A) Dr. C. Rangarajan
(B) Cripps Proposals (B) Sri Subba Rao
(C) Simon Commission Report (C) P.Chidambaram
(D) Wavell Plan (D) Montek Ahluwalia
Ax %
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12,

13.

14.

13.

Ax

#18 | CAG i faear &9 ?

(A) Controller and Auditor General
(B) Controler and Auditer General

(C) Comptroller and Auditor General _
- (D) Comtroller and Auditor General

= o | 1991 U Wi SEeaT 5 391

FHT U= ear e ?
(A) Tl - Al gur
B) [ - SHGE YU
) forem fawm
(D) YR SRR Aterfam, 1935

ISRO =T foam st

(A) Indian Science Hesearch
Organisation

(B) Indian Space Research

- Organisation ~

(C) Indian Scientific Research
Organisation

(D) Image Sensing Research
Organisation

4-7-2012 &l 2@ 7T M Urfésheq o
o} ShET ST R | "

A) T «aE
B) f&@aam
C) Rwmsam
(D) TRffm =g

wﬁuﬁ%m%%qw@:cﬁm

3TR‘H§’33IT

B ACErACNERISE]
(B) v =T T
(C) GH+ iy hil Fare
(D) dEAISHT
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23.

24,

25.

28.
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i) General Intelligence and Reasoning Ability

How many 9's are there in the following

sequence which are preceded by 8, but
not immediately followed by 3 ?

69376963964694766
69369769296

(A) 2 (B) 3

C) 4 D) 5

Three of the following four are alike in a
certain way and so form a group. Which
is the one that does not belong to the
group ?7

(A) 9 (B) 10

(C) 16 (D) 25

Three of the following four are alike in a
certain way and so form a group. Which

's the one that does not belong to *?‘@-.

group 7
(A) Tower (B) Seed
(C) Leaf (D) Flower

If '+ means ', ~'means Yy I

Good is related to Bad, in the same way
as Rich is related to

(A) Floor (B) Wall
(C) Poor (D) Terrace

Oval is related to circle in the same way

as rectangle is related to
(A) Triangle (B) Square
(C) Diagonal (D) Pentagon

In a certain code language PARENTS
is written as RCTGPVU. How is
CHILDREN written in that code ?

(A) EJKNFHTP

(B) EJKNFTPG

(C) EJKNFTHG

(D) EJKNFTGP

——

28.

Direction (29-32)

Vipin is taller than Ramial who is shorter
than Ahmed. Mohinder is taller than
Sheikh but shorter than Ramlal. Ahmed
is shorter than Vipin. Who is the
shortest 7
(A) Vipin
(C) Sheikh

(B)" Ahmed
(D) Ramial

: In each question below

are given two statements followed by
conclusions | and |l. Consider the two
conclusions tegether and then decide which
of the given conclusions legically follows
from the two given statements disregarding
commonly known facts. Give answer

(A)
®

(©)
(D)

M

30.

31.

if only conelusion | follows
if only ‘eonclusion Il follows
if either | or il follows

if neither | nor 1 follows

tatements : All pencils are pens. No
nis a book.

Conclusions :
I) No pencil is a book.
I} Some pens are pencils,

Statements ;: Some rats are rabbits. All
rats are mosquitoes.

Conclusions :
I) Some mosquitoes are rabbits.
i) No rabbit is a mosquito.

Statements : All fans are cups. All cups
are pillows.

Conclusions :

I) All fans are pillows.

Il) All pillows are fans.
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%eﬁg{g???%ﬁ?sasats-m?aa b aw%@ﬁw%
69360769296 m%? ﬁﬁqﬂwalm
(A) 2 (B) 8
) 4 (D) 5 Eg; i?_q_
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(C) EJKNFTHG ) W eE
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32. Statements : Roma is brilliant. Roma is
a woman.
Conclusions :

) Women are brilliant.

Il) Roma is brilliant because she is a
womarn.

33. Choose the one which does not belong
to the group of the other three
(A) Trouble
(B) Mend
(C) Repair
(D) Rectify

Directions : (34 to 36) :

In each question below are given two
statements followed by two conclusions
numbered | and II. Take the two statements
to be tmaamn ifthey seem to be at variance
from commonh #ﬁwwn facts and then decide
which of the given conclusions: logically
follows from the two given statements

disregarding commonly known
answer '
(A) if only conclusion | follow

(B) if only conclusion Il follows
(C) if both | and Il follows
(D) if neither | nor Il follows

34. Statements : All pencils are bricks. All
bricks are bottles.

Conclusions :
I) Some bricks are pencils.
i) Some bottles are bricks.

35. Statements : All pencils are bricks. All
bricks are botties.

Conclusions :
1} All pencils are bottles.
1) All bricks are pencils.

Ax -10-

36. Statements : Some trees are horses.

Biscuit is a tree,

Conclusions :

l) All biscuits are not horses.
Il) Some horses are trees.

a8 L} ¥

37. If '+' means '+, means '+, 'x

means and '+' means 'x', then
2+B—4}<¥2+4=?

(A) 12

(B) —44

(C) 40

(D) None of these

Directions : (38 to 40) :

Study the following information carefully and
answer the given questions.

A,B,C, D, E, F, G and H are sitting around
a circular table facing the centre.

a) B sits third to.the right of F,

b) Asits secondio the right of D, D is not
an immediate neighbour of B and F.

C and E are immediate neighbours of

ch other.

s not an immediate neighbour of A.

e) No one sits between C and F.

38. Who sits to the immediate leftof B 7

(A) H (B) G
c) A (D) E
39. Who amongst the following sits between
GandF?
(A) A (B) ¢
(C) E (D) H

40. Whatis the position of D with respect to
E in the above arrangement 7
(A) Fourth to the left
(B} Third to the right
(C) Second to the right
(D) Fourth to the right
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(A) 12
(B) -
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(A) H
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(D) E
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€ E (©) H
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iii) Arithmetical and Numerical Ability

How many cubic metres of earth must
be poured to close a pit 35 metres deep
and 4 metres in diameter ?

(A) 880m3 (B) 800m?

(C) 440m3 (D) 660 m?

A merchant marks his ware 40% more
than the cost price and allows 20%
discount. What is his profit ?

(A) 20%

(B) 12%

(C) 18%

(D) 14%

If 25% of the number of teachers in

me:'ﬁﬂyc is female, who are 50 in
mmtmr what is the mamber of male!

ﬁa‘achﬂs in University-C 2
(A) 150,

(B) 16

50 a3
(D) 180

The dimensions of the rectangular
garden are 50 m x 40 m. A path of
1m width surrounds the garden. What
is the cost of levelling the path at
7 20 perm2?

(A) ¥ 3,680 (B)
(C) ¥ 2,500 (D)

¥ 2,000
7 3,860

PFiQ=5:3R:0=5:4, P:Q:R=7
(A) 5:3:4

By 3:4.5

(C) 20:12:15

(D) ¥H20:12

(4

46. A sum amounts to ¥ 5,700 in 2 years
and ¥ 6,050 in 3 years. Find the
principal and the rate of interest.

(A) T 5,000, 7%
(B) % 5,300, 5%
(C) ¥ 4,800,8% "
(D) T 4,500, 10%

47. Six eleventh of a certain number
exceeds its five twelfth by 17. Find the
number. -
(A) 231 (B) 312
(C) 123 (D) 132

48. A mancycles west3 km, then goes North
4. km. How far is he from the starting
peint. 7
(A) 5km (B) 6km

1
(©) 47 km (D) 7km
ag??"sg _9
' 87-3 :
(A) 200 (B) 94
(C) 100 (D) 110

50.

What will be the income tax payable by
a person getting a taxable income of
7 30,000 during the year, if the first
18,000 is not taxable and the tax rates

are 25% upto an income of T 25,000
and 30% above T 25,000 7

(A) T 3,500
(C) ¥ 3,000

(B) T 3,250
(D) % 3,750




41, 35 sz et 30 4 iz = AT TR
2 F0 F o ueh ¥ Bl o dm

AT IR 7
(A) 8803 (8) 8003
(C) 4404 (D) 6603

42. U N AT 6 g # S g @
40% ¥fere o7fdma e 8 33y m20%
H T IR | TEF AT FE 7
(A) 20%
(B) 12%
(C) 18%

(D) 14%

ATEATER J5H o SR 507, x 4070, 3 |
35 % = A 1. e uEn? | 2 20

Hﬁrﬁg‘%{f@%mfﬁﬁ%ﬂﬁm
TR ?

(A) % 3,680 (B) % 2,000
(C) ¥ 2,500 (D) % 3,860

45. P:Q=5:3,R:Q=5:4,P:Q:R=7
(A) 5:3:4

(B) 3:4:5

(C) 20:12:15

(D) 15:20:12

iii) areRTTUTA T vE HEaETeTE araar
46.

47.

50.

Hn‘ﬁm% ﬁiaﬁﬁmﬁ 4 ﬁﬂft Sl
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2 =61 # Fet ufdt T 5,700 3T 3 Tt #
% 68,0502 | ETHA IR =™ E JA A |
(A) % 5,000,7%

(B) % 5,300,5%

(C) T 4,800,8%

(D) < 4,500, 10% ’

17 31feer & | W 3 =it
(A) 231 (B) 312
(C) 123 (D) 132

o et ufvem § 3 B oft, o uafre

(A) 200
(©) 100

(B) 94

0y 110

afz ggel T 18,000 FX a1 7 ? K
725,000 7% &l 39 WHF FTF25% B
3 T 25,000 B FRFF T 30% ;A
% N 330,000 i W AT T W

us =i F e e e g dm ?
(A) % 3,500 (B) % 3,250
(C) ¥ 8,000 (D) 3,750
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John travels from P to Q at a speed of
5 km/h and returns to P at a speed of
4 km/h. If the distance between P and Q

is 20 km, what is his average speed ?
(A) 4.5km/h
(B) 5.5km/h

(C) 4§ km/h

4
(D) 45 km/h
16% of ? = 88
(A) 5,500
(B) 550
(C) 176
(B) 1,760

Jies 8O0,
7 2

(A) 15 a

(B) 150

(C) 56

(D) 12

1 1
How many E's are there in 3?5 ?

(A) 400
(B) 450
(€) 300
(D) 350

10 workers take 15 days to complete a
work if they work 8 hours/day, How
many days are needed to complete
the same work if 15 workers work
5 hours/day ?

(A) 13 (B) 14

(C) 15 (D) 16

-14-

yr
|-

56.

a7,

0 0 0 00 T O

Face value of a share is T 25. It is sold
at a premium of ¥ 5. How many shares
can be bought by investing ¥ 30,000 ?
(A) 3,000

(B) 300

(C) 100

(D) 1,000

In a class 30 students speak Hindi. 35
students speak English. 10 students
speak both Hindi and English. If the
students of this class speak only these
two languages, how many students are
there in the class ? <
(A) 55
(B) 75
(C) 45
(D) 65

The ratio of the radii of two circles is
2 5/\What is the ratio of their areas ?
(A) 9:25

(B) 6:10

C)mg.: 15
am) 25:12

59.

60.

If simple interest and compound interest
for 2 years are T 500 and ¥ 545, what
is the rate of interest ?

(A) 15%

(B) 10%

(C) 18%

D) 11%

The sum of the present-ages of a son
and a father is 60 years. Six years ago,
the father's age was twice his son's
present age. What is the present age of
the father ?

(A) 40years

(B) 42 vyears

(C) 45years

(D) 48 years
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56. UHTPR ISR T 258 | IS F

siféram W e smen @1 2 30,000 P
i e e e 8 7

(A) 3,000 (B) 300

(C) 100 (D) 1,000

. T e A 30 B & dem #1358

s e S | 10w R sl st St
d ¢ | Ffe 36 S F B Fad T
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(A) 55 (B) 75
(C) 45 (D) 65
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FR7 |
(A) 40ad
(C) 4a5ad

(B) 4274
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iv) Test of Language : Hindi

wTaT udreroT ¢ R
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v) Test of Language : English
HTYT UTOT : ST

Directions : In the following questions from
81 to 84, sentences are given with blanks to
be filled in with an appropriate word. Four
alternatives are suggested for each guestion.
Choose the correct alternative.

81. An exhibition the new
trends in lighting was held in the capital

inJan. 2013.
(A) for (B) on
(C) of (D) into

82. Many areas of the city were
into darkness for several hours.

(A) spread (B) deep
(C) plunged (D) 'merged

83. In our zeal for progress we should not

powers.

84. No doubt he has achieved much, but |
cannot give him credit for all that he

boasts
(A) of (B) for
(C} to (D) with

85. The word which is opposite in meaning
to the word ‘gather is
(A) amass (B) distribute
(C) congregate (D) collect

86. The word which is opposite in meaning
to the word ‘glorify’ is
(A) praise
(C) debase

(B) adore
(D) enthrone

Ax -18-

the executive withpmmnore
(C) enhance

87.

88.

89.

92.

93.

The word which is most nearly the same
to the word 'contagious’ is

(A) contaminate

(B) infectious

(C) interesting i

(D) consumable

The word which is most nearly the same
to the word “unique” is
(A) frequent (B) ordinary
(C) common (D) distinctiver

Yesterday Rajni school
early to receive her parents at the railway
station.

(A) went (B) departed
(G "eft (D) absented
Gowri's heart at the
sight of the beautiful jewellery.
(A) leapt (B) stopped
C)..slowed (D) crept

he CRPF men swung into action and
cordoned the area.
(A) out (B) of
(C) off (D) over

Vinay had incurred such heavy debts.
that nothing short of a
could save him from bankruptcy.
(A) miracle (B) windfall
(C) loan (D) lottery

In his address to the teachers, the
Vice-Chancellor

measures being taken for improving the
quality of college education.

(B) adviced
(D) suggested

(A) deleted
(C) demanded
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Directions : In questions 94 and 95, groups.
of four words are given. In each group, one word
is mis-spelt. Find the mis-spelt word.

94. (A) ecstacy
(B) extend
(C) excess
(D) exorbitant

95. (A) governance
(B) menace
(C) tendancy
(D) penance

Directions : Read the passage carefully and

choose the best answer to each of the
questions from 96 t6 100 out of the four |
alternatives given.

Some mnuntaln srdes are stralght up and down,
so that it may take many hours to climb as little
as one hundred feet. There is always the
danger that you may fall off and be killed or
injured. Men talk about conquering a mountain,
It is a wonderful feeling to reach the top of a
mountain after climbing for hours and may be,
even for days. You look down and see the
whole country below you. You feel god-like.
Two ltalian prisoners of war escaped from a
prison camp in Kenya during the war. They did
not try to get back to their own country, for they

Ax

aﬂ or c:.ric'féﬁ-‘ 1
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| knew that was impossible. Instead they climbed
to the top of Mount Kenya and then they came

“down again and gave themselves up. They had

wanted to get that feeling of freedom that one
has, after climbing a difficult mountain.

96. Some men like to climb mountain

because

(A) they do not like to play football or
cricket

(B) they knew the trick of climbing

(C) they want to have a wonderful

feeling

(D) they like to face danger

97. To climb mountains is often difficult

because

(A) mountains are big hills

(B) it consumes more time

(C) prisoners often escape from
camps and settle there

(D)

paths are steep and uneven

%Mmdeﬁﬁlﬁe&lhg:“ ‘|f'¥eferg to

isoners es perd m the

climbed to the top of Mount

(A) toescapeto ltaly

(B) tocome down and give up
(C) to get the feeling of freedom
(D) togain fame as mountaineers

100. Mountaineering is not a very popular
sport like football or cricket because
(A) there are no spectators in this sport
(B) it may take many hours or even
days
(C) not many peopie are prepared to
 risk their lives
(D) people do not want to enjoy a

god-like feeling

-19-
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SECTION-B
T -4
Post Specific Subject-Related Questions
ure TfatEs v - gaet us

101. &t wiften ot wam g0 € 9@ S
waTes IR |
(A) Frdis
(B) wfeea®
(C) wrfea =

(D) wgH feagem

102. wEH TP TEEFFEE 9 7
(A) FREE
(R
(©) fmwh

@ gddaz
(A) JeAT AR (©) et wd

104. forw R =t fevd wifeca =1 &g wE
e
(A) wETeET AR
(B) Frmm ymoor e
(C) wHEETe agaal
(D) BfEf v TR

105. ‘maﬁwuﬁﬁ’- ~ 7 TRt ST
Fd?
(A)
(B) Tl HiHIH
(C) ehawrma=aa

(D) STESTHR WETE

106. “srgen g g afverd wrfies =

107. ST 9 FEl | SR w8 ?
(A) &
(B) Taeeht
() P
(D) TR
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108, . TR Te% e A T S w112, ‘T ey I FEE = T 2

o FreTs Teet & reaE 4 7
(A) TS RS

(B) <fre TRt

() Regeamaew

(D) 25 B

100. ez ¥ |9 1930 # Fra wfiE 1 IR

fraren ?
(A) Tl
(B)
©) =
(D) i

110. ‘weraer. fago frw Sl e B

TR ?

(A) SR

(B) ™=

(©) wereetami
(D) e

111, sHAEHgRE RN TN R |
(A) AT
(8) - T W
(C) HEMHT IS &1 ST
(D) ©HE W USH T
A*

(A) ITCTET HE
(B) TmIRIEl
(C) e Hifard T

(D) TEgE G

113, g st s o PR e ?
(A) 1963
(B) 1967
(C) 1949
(D) 1945

114, ‘s 3w i o - 98 foheeh

ad

115. @evareh = ad wum s e B
(A) Erenfig A Eisiy .
(8) Ffgad
(C) T WY
(D) THFHTH
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116.

117,

118, 7

119, °

A=

‘g el ferreh e @ 7
(A) TiEEATE TR

(B) ETaRTSit AT

(C) amafEe

(D) HRHE ARE,

‘o=t wree F Al PEUR P S 7

(A) I & HHARH
(B) oy = & i

(C) 'i%?s'ﬁm'-ﬁﬁgm%?ﬁrr

(D) EeETETE F qEEEH

| O XL

120, ‘wieft 2% e R A i ?
(A) EEE
(B) =feradt fe=at
(C) i T
(D) wfeerdt fe=dt

121, wmrEdS o a2 - |
(A) FHAT
(B) TH®
(C) e 1 Farerl
D) v A g T 2

Sl ffy ol & s i e
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127.

128.

‘Sgudl % AR E |

(A) IegIIE U

(B) wigEhTEy
(C) TorvirieTTe TRt
(D) = I el

Torerafa &t s
(A) SEiETEl
(B) =g
(C) W
(D) e

forfts =1 = o Ieen foro e @ 7
(A) sl
(B) e

(C) FreEEmE
(D) wiieed 2du

At St B e St ST
(A) =fFef =

B) feger

(C) AT

(D) =

70 9 U giae aiEr i amraEi 2 |
(A) CEIHT

(B) =8

(C) =
(D) whme

JDD-40/TGT-HINDVX-14

129. &=t 7«2 wea @ o1 gU vTsel

Fed 2l

(A) TEHE
(B) =R
(C) Tem

(D) deaH

130. ¥ & forg “gfoear’ v formeh g foan

Y

(A) SIS ERT

(B) e Fenfeat gm
(€) e g
tD‘i g % b=

quaaoaY

(B) wwEFd
(C) sTwgw

(D) st

132. &=t =194 yag weiE afw 2 .

(A) PG HRE
(B) 3= WGV
(C) &l

(D) TErHT A
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133.

134.

135,

136.

ot SRS HTET TEE O - 8 i

137. Preffaad PR EaFR TR ?

R ? (A) HEEE
(A) TS TR (B) =M
(B) v gt (C) -TrwE™
(C) gt Id ) 3K
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(A) e @l
FENEE & 6 8 (B) G=IE _
A) Fa= (C) wymTerl )
(B) FeeTe (D) T ¥
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IMPORTANT INSTRUCTIONS TO CANDIDATES

FerfteaEl & feng wevargot srgawr

11. This booklet contains 32 pages.

12, Please check all the pages of the Booklet
carefully. In case of any defect, please ask
the Invigilator for replacement of the Booklet.

13. Directions '@ Each question or incomplete

statomant is followed by four alternative

suggested answers or completions. In sach
case, you are required to select the one that
correctly answers the question or completes
the statement and blacken (@) appropriate
circle A, B, C or D by Blue/Black Ball-Point Pen
against the question goncerned in the

Answer-Sheet. (For V.H. candidates

corresponding circle will be blackened

by the scribe)

1. EyEm 32 2 |

12. mg@mawwmmﬁ |9
HEETE, mﬁﬂw%@wﬁmﬁ'ﬁl
13. fadwr . mmmwmaﬁm%m
T I AT T FU7 G AR | o 29
% 319 foreft v = T R S e Ee I
& e FUA H P F 3 SR S-ntE
¥ I MR @M A, B, C.AT DF e
FIAT AeA-Tee T H Frel (@) FET 2 |
(ziezanfara sofraamt & forg o aeR

Tt g @ famn o)

. Mark your answer by shading the appropriate 14
circle against each question. The circle should
be shaded completely without leaving any spacs.

0% i O IR g e s e <
I (o | ot e o v s Rt |

The correct methed of shading is given below.

EWrnng Mathod - fiWrong Method TVI—W"H kst (f Correct Mmm

C®OCIOV O C|O®0 00800

The Candidate must mark his/her responsa
after carsful cogsideration.

15. There is only Gﬁﬂﬁﬂﬂﬁﬂt answer o sach
question. You should | t‘:k':-:-n .} the circle
of the appropriate collimr

If you blacken {.1 '__
against any one ques '.' the an
treated as wrong. If Mﬁh to
answer, you should completely erase that bfac
mark in thecircle inthe Answer-Sheet and then
blacken the circle of revised response.

. A maching will read the coaded information
in the OMR Answer-Sheet. In case the
information is incomplete/different from the
information given in the appiication form, the
candidature of such candidate will be treated
as cancelled.

17. Use the space for rough work given in the
Question Booklet only and not on the
Answar-Sheet,

18. You are NOT required to mark your answers
in this Booklet. All answers must be
indicated in the Answer-Sheet only.

Freiss =0 &1 v 50 9 R g |

lom st | oo ofist

IG@DDED@QD 0C®000e00

e |ﬁmﬁaﬂaﬁﬁ

T maﬁ%#r T I - % 3G e
@A E e T g e d i A s
TR = AT TR S S TS S |

16. SiruR. 3R, IoR-ufys § wll v 5 ge

uE WETE TRt | 9 e sl B s st
a3 H @S g A e R, oE s Y
speiedan e wefl st | ~

17. e %14 & (0 Fae1 Uy 93 | 0 73 =1 &0
T | - T A w6 |

18. 39 qfEamT % 397 WTURY THE SR TH

FEE | I A TR-Taer R A

Go through instructions given in Page No. 1 (Facing Page)

A=
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